5%

AYREO

% B R B A (M8) Hmm
e F12 1.2
2 | #Eirs F12 2.3
NX 3630 3 | #ATh F12 16
3630 , 3630 3630 , 3630 L | HPES F12 12+16
1 1 5 | #eAas F12 16
65 7X500=3500 130 3500 3500 130 TX500=3500 65 e F12 12416
LN T | RPBEBAEE F12 3.2
e 8 | #idl Y10 1.6
9 | titg Y10 16
= 10 | ®xE5 Y10 1.0
1| Roa F12 2.0+3.2
12 | o F12 2.0+3.2
= 13 | BHhERK Y10 1.0
0 1L | Foan- F12 2.3
" 15 | BhhnN—- Y10 0.7
= 16 | BEPR F12 16
5 17 | BE® F12 12
LN 18 | BIR/SRIL Y10 0.5
19 | 8FBEM (THM)-BIE- | RUIFLVYIA—A 4.0
20 | BRIV F12 0.6
— 21 " HRESRES Y10 0.7
] =~ 22 | emEE Y10 0.7
A 23 [ 3-r-28 F12 23
2L [ Yru9—(25vh) 708 05
25 | Yrug—hn—- F12 0.7
2 26 | A +v3—L—Jb FIVI =D ARSBEIM
P 27 | L —)vibHER PIIZDLBRBEIM
] F12- 5B - XEiR(JIS G 3302)
= Y10~ BB -5% 7V — O AAS 0o *BIR(IS G 3317)
< 708> 2R ERMBEID o CHRUIS G 3312)
\U's}
A A
o L
_7l>
APROSE O AMROSEO 2
100 625 3313 625/ 11625 3313 3313 625 [|625 3313 625 100
197 192
NX 3630+8
NX 3630+160 6055
80 NX 3630 80 = 140 5775 140
“l\ 1000 o
i / i ' ¢
/,’
I/ m
7 ~
/ 2,
. s % N L g
— =+ o~ [es) —
© e it —~ N
] =n
V ERE Xk /
VG.L / o
! N Na)
e+ v 39— ME> +vI— e+ v 39—

XEEDOBRL ERRISCTHRAE - TMARNDELLHGEENHYFET,

AR

<HsR> S=1/60

~ — IEEEN

HIES

GRN—3657SL

OB B0 ~+3%:3313 X 1818(mm)

ORMEFENGESH x 20.96m(6.351F)

i 2% Fig 3% BU1E PR



